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1. 5+8=

2.15-9=

3. 7+4=

4. 4 dimes =

5.16+8-1=

6. 41 +33 =

7. 38-22=

8. 14+15+16 =

9. 50+70-20=

983 + 432 + 544 =

11. What number makes the statement true?

[ J+16=42

12. 100 =77 =

13. 2 yards =

14. 4 x4 =

feet

15. 143 -69 =

16. Find the difference between 56 and 23.

17. How much smaller is 37 than 61?

18. Round 489 to the nearest hundred’s place.

19. 16 x3 =

20. 2925 - 1387 =

21. 56 x 1 =

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

What is the next number in the pattern
9,12,15,18,...?

120 minutes is the same amount of time as

hours

801 - 108 =

Write the number four thousand, fifty-six

289 + 324 + 356 =

2X2xX5=

8+8+8+8+8=8x

What digit is in the thousand’s place of 78467

503 x 120 =

31 x4 =

4203 + 5161 =

How many natural numbers are less than 12?

1000 — 293 =

What number should be added to 435 to make 525?

In a hockey game, Igor stopped 12 shots in the 1st
period, 15 shots in the 2nd period, and 16 shots in the
3rd period. How many total shots did he stop?

1725 + 343 =
1 gallon = pints
A chef needs 2 eggs to make one dozen cupcakes.

How many eggs are needed to make three dozen
cupcakes?
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40. 19998 +41 =

41. 24 x50 =

14
42. Simplify T to lowest terms.

43. Find the perimeter of the triangle whose sides are 14,
9, and 10.

44. 1313 x4 =

45. 456 +2.93 =

46. 11 x45 =

47. 18+ 73 -14-67 =

48. What number makes this equation true?

17x[ ]=85

49. There are 6 shelves and each shelf has 14 books. How
many total books are there?

50. 13x13x13 =

51. What is the area of a square whose sides are 7 cm

each? cm?

52.100-3-3-3-3-3=

53. 58 x73 =73 %

54. Write the fraction two-fifths.

55. Ella is twice as old as Naomi. Ella is 16 years old.
How old is Naomi?

56. 35x35 =

57. 23 inches plus 13 inches = feet

58. 7+9+11+13+15=

59. 120+ 8 =

*60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

71.

72.

73.

74.

75.

76.

7.

78.

79.

* 80

61 x71 x 88 =

7 1
il (fraction)

39x41 =

57000 centimeters = meters

3+4x5 =

Write 23 in Roman numerals.

What digit is in the hundredth’s place of 830.75?

50% of 12 is
72+9= (decimal)
24 x 35 =14 %
. 512355 +798 =
172 - 162 =
96 x 97 =
Which of the following is not prime:

13, 15, or 177

2+4+6+8+10+12=

101 x 43 =

A taco costs 89¢. How much will a dozen tacos cost?

$

111 x = 2553

(18 = 12) x (18 - 6) =

What percent of 80 is 647 %

3.14x15x 16 =




